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02 S3=gHl 7,800 7,800 0
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201 er2 3| 43,500 41,060 2,440
01 At2teltl 16,350 4,000 12,350
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4,000,000& *14] 4,000
O=llga gHEHY| 50,0003 247 12,350
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O=2XXHH S22
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OAlE &R X 1,200,000& 14! 1,200
AxH X222 6,000 6,000
201 23] 6,000 6,000
01 AtS2teltl 3,600 3,600
O=Xgl2 23| 3,600,000 14! 3,600
02 222l 2,400 2,400 0
O=Xs2 2222 L HA
200,000 123 2,400
AZE A ZHI 325,228 325,228 0
AEH ARE FRUSJAY 325,228 325,228 0
AFH FRI=JAY 301,000 301,000 0
401 AlIEHIZL 2 0HY| 301,000 301,000 0
01 AIEHI 300,000 300,000 0
o2 2B 52 EE(L=245n, B=3m)
38,000, 00024 14! 38,000
OmY42| 756-181K LR 42 &I (L=00m, B=1
m) 30,000,000& * 14! 30,000
O&F 92| 1M168HK| L& =2 & X (L=215m, B=1.
2m) 37,000,000& *1& 37,000
O= 42| 101-121X] L& OtAR RS (L=2
50m, B=3m) 30,000,000 * 14! 30,000
O=&1cl 22 NH= =2 =2 &XI(L=200m
, B=0.4m) 30,000,000& * 14! 30,000
OBI 2| BLH A 5H& Y| (L=70n, H=1.8m)
30,000,000 %14 30,000
OEZ2e =3 2Y ot& FI(L=35m, H=
1.8~2.4m) 25,000,000 * 14! 25,000
O=E12l 8479 L& =2 &XI(1=80m, B=0.6
m) 25,000,000& * 14! 25,000
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6m) 30,000,000 *14! 30,000
Ost=12l 161X 22 =2 WX (L=105m, B=0.
5m) 25,000,000 * 14! 25,000
03 AIE S 0HHI 1,000 1,000 0
OAl& 20l 1,000,000 *14 1,000
AxH FOSHHAY B 24,228 24,228 0
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D = 11,4202 10 +3 343
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
SMNH 614,706 656,555 241,849
SMHE =0HFEMHIA B3 235t 164,407 209,062 N44,655
SHE FUYEXH 164,407 209,062 AN44,655
SNH FUFHHAY 94,660 94,230 430
301 EetE NS 94,660 94,230 430
o7 8% -0 - H¥Es243 82,860 82,910 A50
oolg=¢ 300,000 x17E 128 61,200
OolZaoi= 300,000 x17& 23] 10,200
SUEE =R
20,0003 x 172 23| x 12 8,160
(@)=ip~-5=la] 50,0002 x66< 3,300
11 #AIAHIXIE S 1,000 1,000 0
Ouns & At S 4L &dIXA
1,000,000 *14] 1,000
14 IIEt2 8= 10,800 10,320 480
OMDtS2al 32 4+
20,0002 x45H %123 10,800
SNY FA=E2el 17,858 26,822 A\8,964
201 er=2 3| 17,858 26,822 A\8,964
02 S3=gHl 17,858 26,822 28,964
O332= € HMAl 11,333,000 x 14 11,333
@Jul=d:] 2,000,000& *14] 2,000
OAlZ &I Xl 4,525,000 * 14 4,525
SHH HHXH 51,889 88,010 A36,121
101 @124H| 25,378 60,349 N34,971
MU IIRIMZZENSES 25,378 60,349 A34,971
OFYARA(F 02 22l S2X SZEFHI) 12,247
>llEs 2,386,780 (30/40) 232 10,741
D> ARt 11,4202 +6 A1 2H+2F x2 275
>=E=RY=S 11,014,500 *4 . 5% 4%
PALEES 11,014,500 %3.545% 391
PEIRYEER 390,4702%12.81% 51
(PR =ient=: N 11,014,502 %1.75% 193
DAHESEE 11,014,500 0. %% 100
O8gaRA(ESH=s3E & 8 2el) 13,131
>olEs 11,4202 +BA| 2H+7H*202 12,791
[PIE=ent=: N 12,790,400 *1.75% 224
DAHESEE 12,790,400 0. %% 116
201 el 18,611 18,611
01 At2teltl 13,861 13,861
Oget=ZHI 12,461,000 * 14| 12,461
Oo=g=+g 1,400,0002 %14 1,400
02 S3=gHl 3,750 3,750 0
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>A&CEE HIZ 20,0002 #4053 4,000
DECEE HHE s
10,0002 *40 EZ+23] 800
D> &I E BHEAL 22,0002 +100E 2,200
D&CIRE el EHIE
30,0002 x5 62l 900
SHH AMHBHI 321,652 324,272 22,620
SHH ARE FO=JAY 321,652 324,272 A2,620
SMNE =0I=F A 301,000 301,000 0
401 AIEHIZL 2 OHYI 301,000 301,000 0
01 Al&HI 300,000 300,000 0
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mm) 20,000, 000 * 14! 20,000
obE2| 1260-11H Xl L& 24 YI(L=50m, H=<4.0m
) 30,000,000& *14! 30,000
O2F2e| IS &AL Mgz IH(L=15
Om, B=3.0m) 25,000,000& * 14! 25,000
Otidel 628HKl L2 === &HI(L=200m, 500x5
00mm) 23,000,000& %14 23,000
O=4te] 5508 X L& 2 DA Orsetd Of
AZSMNL2I[(L=150m, B=3.0m)
21,000,000& *14! 21,000
Odrsie] 103X L2 2HFHI(L=100m, H=2.0m)
30,000,000 * 14! 30,000
Oothdel 98-8l L2 === FHI(L=120m, 800
X700mm) 25,000,000& *14! 25,000
O==4te| 1338 X 23 ==& L E(L=50m, B=3.0~
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Og=c| 818Xl 23 sZZE(L=150m, B=3.0m)
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OftEel 69288 Xl & OtSetd OtA2Y
<2 I1(=260m, B=3.0m) 36,000,000& %14 36,000
OZ el 3B A L3 0=t OtAZTM
< IJ1(L=180m, B=3.0m) 25,000,000& * 14! 25,000
Ox4te] 880Kl 2@ ==L A(L=50m, B=3.0m)
10,000,000& * 14! 10,000
03 Al< S CHHI 1,000 1,000 0
OAIZ =04t 1,000,000 * 14! 1,000
SHH Fol=HoA Y SZE| 20,652 23,272 22,620
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11,3192 %17 #300A1 2+ 57,727
03 SRA(RIH )22 E S 1,102 0 1,102
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201 fer= 3| 3,600 3,360 240
02 S3=gHl 3,600 3,360 240
oulg? HlatlgAld &Je=s
75,0003 44 2% 122 3,600
401 AlEHIZL SO 9,000 9,000
01 Al&H| 9,000 9,000
Ooug? Hiaa=Ald FA2e
9,000,000 %14 9,000
PSP E! 5,097 5,097
201 er2 3| 5,097 5,097
01 AtR2t2|HI 4,677 4,677
Oogegt+=EHI 4,677,000 14 4,677
2 Ss2g4l 420 420 0
OgfE SUHE 2= 35,0002« 12& 420
O3 A 3,206,912 3,003,482 203,430
FoISHA ¥ S3E 45,438 37,423 8,015
101 @124H| 21,938 21,923 15
M OIRIMZZ2NSE S 21,938 21,923 15
ORI (HIISHs & &33H|) 21,938
>olEs 2,386,780 18 8& 19,095
> AXtg 11,4202 +BAI 2H+ 18 +7 L 640
>=E=RY= 19,733,760 *4. 5% 889
PALEEE 19,733, 7602 *3.545% 700
PARLEER 700,0002%12.81% 0
[PE=iet=: k= 19,733,760 1.75% 346
DAHESEE 19,733,760 0. %% 178
201 el 4,000 4,000
01 At22t2lt] 4,000 4,000
OHJI= HHE 2t &= & 2B HH| 23
4,000,000& *14] 4,000
206 M=l 11,500 11,500
01 M=4l 11,500 11,500
OHEZ AN 500& +23,000= 11,500
405 AtatE = 8,000 0 8,000
01 TR =S FSHI 8,000 0 8,000
(OEN=E=FS ) 8,000,000 1CH 8,000
SE =Xz 1,209,574 1,014,759 194,815
101 @124H| 175,474 350,709 175,235
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FA A
M F0IOEAEIA 25t
el XA (e A
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
OO0lgl0l=0IE etd2te| ES
40,000,000 *14] 40,000
OLZAIEE WHI(TH0et, #IX)
70,000,000& * 14! 70,000
O0glo] S& SHRoHQIA Al JHA
20,000,000 * 1870 2~ 360,000
03 Al S CHYI 1,000 1,000 0
OAI4 20HbI 1,000,000 *14] 1,000
405 AtatE = 1,650 1,600 50
01 M ESFH SHI 1,650 1,600 50
OAEUAN S 550,000 *1CH 550
OFSESI=— 550,000 *1CH 550
GG EEXCTVE 550,000 1CH 550
=XE2t RA2el 1,265,000 1,265,000 0
401 AlIEHIZL 2 0HYI 1,265,000 1,265,000
01 A=l 1,264,000 1,264,000
OsXE2 |Xl2el
1,200,000,000& *14] 1,200,000
OSTAl =HS2 HIEH JH|
64,000,000 *14] 64,000
03 Al& S CHHI 1,000 1,000 0
OAI& 20HbI 1,000,000& %14 1,000
FRI=RAY 151,000 151,000
401 AlIEHIZL 2 OHY] 151,000 151,000
01 A=l 150,000 150,000
OHRE AEZE 23 UEANEZE FHI(B=1.5m,
L=1,500m) 150,000,000 * 14! 150,000
03 AlZ = THHI 1,000 1,000 0
OAIEZ =] 1,000,000 14 1,000
CERIES 510,500 510,500
201 L2 1,000 1,000
02 3224l 1,000 1,000
OEZRAESE IR
1,000,000 *14] 1,000
206 =4I 6,000 6,000
01 =4l 6,000 6,000
OEZRANESE SotE
20,0002 +300£ 6,000
305 =S 2,500 2,500
01 Hia=S 2,500 2,500
O=Z2RX el Zoithaas
2,500,000& 14 2,500
401 AlIEHIZL R 0HY| 501,000 501,000
01 A&l 500,000 500,000




SA: et Al
M F0IOEAEIA 25t
el FUXEAE (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O=2RXI&2=(B=7.0m, L=1,500m)
200,000,000& 14 200,000
OQIER X E==(B=3.0m, L=1,000m)
200,000,000& * 14! 200,000
OHIgEEEZZ |2
100,000,000 14 100,000
03 AIE = CHHI 1,000 1,000 0
OAIZ =01l 1,000,000 14! 1,000
SUIMSAIE X & |Xl22 25,400 24,800 600
201 Ler2 | 5,400 4,800 600
02 33244l 5,400 4,800 600
OHSAE 2323 450,000 x 12& 5,400
401 A& HIZLS0HY| 20,000 20,000
01 AlEHI 20,000 20,000
OSUINSAIE SN2
20,000,000 1A 20,000
HY2HZH| (A Al 99,564 104,521 A4,957
lA2HYI(CHE T AITL) 55,252 57,789 N2,537
ol (HE S AlL) 55,252 57,789 N2,537
101 2124l 55,252 57,789 AN2,537
01 2= 47,540 46,746 74
OAIZte 28R+
11,3193 x 14 x300A| 2+ 47,540
EEEESIP RN 7,712 7,704 8
ooEaRAy 7,712
PHAMSH(SASKZE L $HIY)
8,360& x7H+60Al 2F 7,712
Jl2&| (™ S AlD 44,312 46,732 A2,420
JI2AH[ (A Al D) 44,312 46,732 A2,420
201 B2 AY| 6,412 6,412 0
01 ArR2eltl 6,412 6,412 0
ORN2Z+EH] 6,412,000& * 14! 6,412
202 Ot 29,800 31,720 21,920
01 =WHO4L| 29,800 31,720 21,920
OJ |2 R=30t| 2,400,000& *12& 28,800
OJ|2gR8 2t2|0t|
1,000,000 14! 1,000
203 AR F&lY| 4,200 4,200
M EAN2HEHRFAY| 4,200 4,200
O25¢! 0le 350,000& =123 4,200
405 KHaHE S| 3,900 4,400 AB00
01 XL = SH S| 3,900 4,400 A500
OPC(2Al) 1,300,000 *3CH 3,900




